

$$\begin{aligned} -2x + 2y - 2z &= 0 & \frac{x}{-3+1} &= \frac{y}{1+3} = \frac{z}{-1-1} \\ x + y + z &= 0 & & \\ x - y - 3 &= 0 & \frac{x}{-2} &= \frac{y}{4} = \frac{z}{-2} \end{aligned}$$

When $\lambda = \sqrt{3}i$

$$\begin{vmatrix} 1 - \sqrt{3}i & 2 & -2 \\ 1 & 2 - \sqrt{3}i & 1 \\ 1 & -1 & -\sqrt{3}i \end{vmatrix} \begin{vmatrix} x \\ y \\ z \end{vmatrix} = 0$$

$$\begin{aligned} (1 - \sqrt{3}i)x + 2y - 2z &= 0 \\ x + (2 - \sqrt{3}i)y + z &= 0 \\ x - y - \sqrt{3}iz &= 0 \end{aligned}$$

$$\frac{x}{-2\sqrt{3}i-3+1} = \frac{y}{1+\sqrt{3}i} = \frac{z}{-3+\sqrt{3}i}$$

Now when $\lambda = -\sqrt{3}i$

$$\begin{vmatrix} 1 + \sqrt{3}i & 2 & -2 \\ 1 & 2 + \sqrt{3}i & 1 \\ 1 & -1 & \sqrt{3}i \end{vmatrix} \begin{vmatrix} x \\ y \\ z \end{vmatrix} = 0$$

$$\begin{aligned} (1 + \sqrt{3}i)x + 2y - 2z &= 0 \\ x + (2 + \sqrt{3}i)y + z &= 0 \\ x - y + \sqrt{3}iz &= 0 \end{aligned}$$

$$\frac{x}{2\sqrt{3}i-3-1} = \frac{y}{1-\sqrt{3}i} = \frac{z}{-1-2-\sqrt{3}i}$$

$$\frac{x}{2\sqrt{3}i-1} = \frac{y}{1-\sqrt{3}i} = \frac{z}{-3-\sqrt{3}i} \quad P = \begin{pmatrix} \dots \\ \dots \\ \dots \end{pmatrix}$$

$$P = \begin{bmatrix} -2 & -2\sqrt{3}i-2 & 2\sqrt{3}i \\ 4 & 1+\sqrt{3}i & 1-\sqrt{3}i \\ -2 & -3+\sqrt{3}i & -3+\sqrt{3}i \end{bmatrix}$$

larger eigen value & eigen vector
★ Power Method for eigen value & eigen vector

This is an iterative method which is used to calculate the eigen value λ eigen vector of a matrix consisting 'n' order.

Let $X = c_1x_1 + c_2x_2 + c_3x_3 + \dots$

Let the eigen value of corresponding coordinates will be $\lambda_1, \lambda_2, \lambda_3, \dots$ Then

$$AX = c_1\lambda_1x_1 + c_2\lambda_2x_2 + c_3\lambda_3x_3 + \dots$$

Then from the condⁿ of eigen value we have know that $AX = \lambda X$

$$\text{Then } AX = c_1\lambda_1x_1 + c_2\lambda_2x_2 + c_3\lambda_3x_3 + \dots$$

$$\text{|| By } A^2X = c_1\lambda_1^2x_1 + c_2\lambda_2^2x_2 + c_3\lambda_3^2x_3 + \dots$$

$$A^m X = c_1\lambda_1^m x_1 + c_2\lambda_2^m x_2 + c_3\lambda_3^m x_3 + \dots$$

Now acc. to the power method the value component can be expressed in the form of

$$y^i = \lambda x^{i-1}$$

corresponding eigen value $AX = \lambda X$

This is the sufficient condⁿ of Power method which give the eigen value & eigen vector

Let us consider a matrix for the eigen vectors such that

$$P = \begin{bmatrix} x_1 & x_2 & x_3 \\ y_1 & y_2 & y_3 \\ z_1 & z_2 & z_3 \end{bmatrix}$$

Then

$$AP = \begin{bmatrix} a_1 & b_1 & c_1 \\ a_2 & b_2 & c_2 \\ a_3 & b_3 & c_3 \end{bmatrix} \begin{bmatrix} x_1 & x_2 & x_3 \\ y_1 & y_2 & y_3 \\ z_1 & z_2 & z_3 \end{bmatrix}$$

$$= \begin{bmatrix} a_1x_1 + b_1y_1 + c_1z_1 & a_1x_2 + b_1y_2 + c_1z_2 & a_1x_3 + b_1y_3 + c_1z_3 \\ a_2x_1 + b_2y_1 + c_2z_1 & a_2x_2 + b_2y_2 + c_2z_2 & a_2x_3 + b_2y_3 + c_2z_3 \\ a_3x_1 + b_3y_1 + c_3z_1 & a_3x_2 + b_3y_2 + c_3z_2 & a_3x_3 + b_3y_3 + c_3z_3 \end{bmatrix}$$

on using eqⁿ (1), (2) & (3) we get

$$\begin{bmatrix} \lambda_1 x_1 & \lambda_2 x_2 & \lambda_3 x_3 \\ \lambda_1 y_1 & \lambda_2 y_2 & \lambda_3 y_3 \\ \lambda_1 z_1 & \lambda_2 z_2 & \lambda_3 z_3 \end{bmatrix}$$

$$AP = \begin{bmatrix} x_1 & x_2 & x_3 \\ y_1 & y_2 & y_3 \\ z_1 & z_2 & z_3 \end{bmatrix} \begin{bmatrix} \lambda_1 & 0 & 0 \\ 0 & \lambda_2 & 0 \\ 0 & 0 & \lambda_3 \end{bmatrix}$$

Then $AP = PD$

where $D = \begin{bmatrix} \lambda_1 & 0 & 0 \\ 0 & \lambda_2 & 0 \\ 0 & 0 & \lambda_3 \end{bmatrix}$ is known as Diagonal matrix

also multiplying by P^{-1} we get $P^{-1}AP = P^{-1}PD$

Then $P^{-1}AP = D$

This eqⁿ represent the diagonalisation of the matrix.

Ques → find the diagonal elements of the matrix.

$$A = \begin{bmatrix} 1 & 2 & -2 \\ 1 & 2 & 1 \\ 1 & -1 & 0 \end{bmatrix}$$

$$A - \lambda I = 0$$

$$\begin{vmatrix} 1-\lambda & 2 & -2 \\ 1 & 2-\lambda & 1 \\ 1 & -1 & 0-\lambda \end{vmatrix} = 0$$

$$\begin{aligned} (1-\lambda)[1] - 2[-1] - 2[-1-2+\lambda] &= 0 && (1-\lambda)(-2+\lambda^2) \\ (1-\lambda)+2-2(-3+\lambda) &= 0 && + -2(-\lambda^2-\lambda) \\ (1-\lambda)+2+6-2\lambda &= 0 && + -2\lambda \\ (1-\lambda)+8-2\lambda &= 0 && \lambda^2 - \lambda^2 + \lambda \\ -3\lambda + 9 &= 0 && (\lambda-3)(\lambda^2+3) = 0 \\ 3\lambda &= 9 \Rightarrow \lambda = 3 && \lambda = 3, \pm\sqrt{3} \end{aligned}$$

Now eigen vector of above eqⁿ can be written as when $\lambda = 3$ $\begin{bmatrix} -2 & 2 & -2 \\ 1 & -1 & 1 \\ 1 & -1 & 1 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = 0$

of the matrix.
In this method - the eigen value remain in its max form.

Ques Find the eigen value & eigen vectors of the matrix $A = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix}$
Sol The corresponding eigen vector of above matrix will be $X = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$

$$\text{Then } Y^1 = AX = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} 4 \\ 1 \end{bmatrix} = 4 \begin{bmatrix} 1 \\ 0.25 \end{bmatrix}$$

We also know that $AX = \lambda X$
Then on comparing we get $\lambda_1 = 4$ & $X_1 = \begin{bmatrix} 1 \\ 0.25 \end{bmatrix}$

Now the IInd iteration can be calculated as

$$Y^1 = AX^1 = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0.25 \end{bmatrix} = \begin{bmatrix} 4.25 \\ 1.75 \end{bmatrix} = 1.25 \begin{bmatrix} 1 \\ 0.41 \end{bmatrix}$$

$$\lambda^2 = 4.25 \text{ & } X^2 = \begin{bmatrix} 1 \\ 0.41 \end{bmatrix}$$

112y

$$Y^2 = AX^2 = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0.41 \end{bmatrix} = \begin{bmatrix} 4.41 \\ 2.23 \end{bmatrix} = 4.41 \begin{bmatrix} 1 \\ 0.5 \end{bmatrix}$$

$$\lambda^3 = 4.41 \text{ & } X^3 = \begin{bmatrix} 1 \\ 0.5 \end{bmatrix}$$

$$Y^3 = AX^3 = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0.5 \end{bmatrix} = \begin{bmatrix} 4.5 \\ 2.5 \end{bmatrix} = 4.5 \begin{bmatrix} 1 \\ 0.55 \end{bmatrix}$$

$$\lambda^4 = 4.5 \text{ & } X^4 = \begin{bmatrix} 1 \\ 0.55 \end{bmatrix}$$

$$\rightarrow \text{112y } Y^4 = AX^4 = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0.55 \end{bmatrix} = \begin{bmatrix} 4.55 \\ 2.65 \end{bmatrix} = 4.55 \begin{bmatrix} 1 \\ 0.58 \end{bmatrix}$$

$$\lambda^5 = 4.55 \text{ & } X^5 = \begin{bmatrix} 1 \\ 0.58 \end{bmatrix}$$

$$\rightarrow \text{Now } Y^5 = AX^5 = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0.58 \end{bmatrix} = \begin{bmatrix} 4.58 \\ 2.74 \end{bmatrix} = 4.58 \begin{bmatrix} 1 \\ 0.59 \end{bmatrix} \cdot \lambda_6 = 4.58, X_6 = \begin{bmatrix} 1 \\ 0.59 \end{bmatrix}$$

$$\rightarrow Y^6 = AX^6 = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0.59 \end{bmatrix} = \begin{bmatrix} 4.59 \\ 2.77 \end{bmatrix} = 4.59 \begin{bmatrix} 1 \\ 0.60 \end{bmatrix}$$

$$\lambda_7 = 4.59 \text{ & } X_7 = \begin{bmatrix} 1 \\ 0.60 \end{bmatrix}$$

$$\rightarrow Y^7 = AX^7 = \begin{bmatrix} 4 & 1 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0.60 \end{bmatrix} = \begin{bmatrix} 4.60 \\ 2.80 \end{bmatrix}$$

$$= 4.60 \begin{bmatrix} 1 \\ 0.60 \end{bmatrix}$$

$$\lambda_8 = 4.60 \quad X_8 = \begin{bmatrix} 1 \\ 0.60 \end{bmatrix}$$

$$\text{Hence } X^8 = \begin{bmatrix} 1 \\ 0.60 \end{bmatrix}$$

from above it's clear that $X^8 - X^7 = 0$
Hence $\begin{bmatrix} 1 \\ 0.60 \end{bmatrix}$ are the required eigen vectors

if $\lambda = 4.60$ is the required eigen value of given matrix.

Ques $A = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix}$ & $X = \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix}$

$$Y^1 = AX = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 6 \\ -2 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.65 \\ -0.28 \\ 1 \end{bmatrix}$$

$$\lambda_2 = 7 \quad X^2 = \begin{bmatrix} 0.85 \\ -0.28 \\ 1 \end{bmatrix}$$

$$\rightarrow \text{also } Y^2 = AX^2 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.85 \\ -0.28 \\ 1 \end{bmatrix} = \begin{bmatrix} 2.72 \\ 3.12 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.39 \\ 0.44 \\ 1 \end{bmatrix}$$

$$\lambda_3 = 7 \quad X^3 = \begin{bmatrix} 0.39 \\ 0.44 \\ 1 \end{bmatrix}$$

$$\rightarrow Y^3 = AX^3 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.39 \\ 0.44 \\ 1 \end{bmatrix} = \begin{bmatrix} 4.22 \\ 0.24 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.61 \\ 0.03 \\ 1 \end{bmatrix}$$

$$\lambda_4 = 7 \quad X^4 = \begin{bmatrix} 0.61 \\ 0.03 \\ 1 \end{bmatrix}$$

$$\rightarrow Y^4 = AX^4 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.61 \\ 0.03 \\ 1 \end{bmatrix} = \begin{bmatrix} 3.57 \\ -2.46 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.51 \\ 0.26 \\ 1 \end{bmatrix}$$

$$\lambda_5 = 7 \quad X^5 = \begin{bmatrix} 0.51 \\ 0.26 \\ 1 \end{bmatrix}$$

$$Y^5 = AX^5 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.51 \\ 0.26 \\ 1 \end{bmatrix} = \begin{bmatrix} 2.64 \\ 0.96 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.38 \\ 0.14 \\ 1 \end{bmatrix}$$

$$\lambda_6 = 7 \quad X^6 = \begin{bmatrix} 0.38 \\ 0.14 \\ 1 \end{bmatrix}$$

$$\rightarrow Y^6 = AX^6 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.38 \\ 0.14 \\ 1 \end{bmatrix} = \begin{bmatrix} 2.96 \\ -1.48 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.43 \\ 0.21 \\ 1 \end{bmatrix}$$

$$\lambda_7 = 7 \quad X^7 = \begin{bmatrix} 0.53 \\ 0.21 \\ 1 \end{bmatrix}$$

$$\rightarrow Y^7 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.53 \\ 0.21 \\ 1 \end{bmatrix} = \begin{bmatrix} 3.15 \\ 1.16 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.45 \\ 0.16 \\ 1 \end{bmatrix}$$

$$\lambda_8 = 7 \quad X^8 = \begin{bmatrix} 0.55 \\ 0.16 \\ 1 \end{bmatrix}$$

$$\rightarrow Y^8 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.55 \\ 0.16 \\ 1 \end{bmatrix} = \begin{bmatrix} 3.82 \\ 1.54 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.54 \\ 0.22 \\ 1 \end{bmatrix}$$

$$\rightarrow Y^9 = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.54 \\ 0.19 \\ 1 \end{bmatrix} = \begin{bmatrix} 3.92 \\ 1.24 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.56 \\ 0.18 \\ 1 \end{bmatrix}$$

$$\rightarrow Y^{10} = \begin{bmatrix} 1 & 2 & 3 \\ 0 & -4 & 2 \\ 0 & 0 & 7 \end{bmatrix} \begin{bmatrix} 0.56 \\ 0.19 \\ 1 \end{bmatrix} = \begin{bmatrix} 3.9 \\ 1.32 \\ 7 \end{bmatrix} = 7 \begin{bmatrix} 0.55 \\ 0.19 \\ 1 \end{bmatrix}$$